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3 Fe,04(s) + CO(g) — 2 Fe,0,(s) + CO,(g) | Jeladl dsleo
Fe,0,)=8,52.10" mol sl
7 (Fe,0,) =8,52107mol 1 00y~ 521.10% mol 0 0 =0
>0 Al>
n(Fe,0,)=8,52.10" 3x n(CO)=5,21.10" —x 2x X e t
n(Fe,0,)=8,52.10° =3x, n(C0)=5,21.10" —x__ 2x, . X, avlell I

: 29V pasill dad oz .2
n(Fe,0,)=8,52.10° -3x _ >0=x_ <2,84.10°mol

n(C0)=521.10°-x_ >0=x_ <521.10>mol
X, =2,84.10" mol
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n,(Fe,0,)=8,52.10" -3x2,84.10" = 0

n,(CO)= 5,21.107° -2,84.107 = 2,37.10 " mol

n,(Fe,0,)=2x2,84.10" =5,68.10" mol

n,(CO,)=2,84.10" mol
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